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@ Choose the best answer .

| 11 | Peter, .ccoveenrnnnnn.. .these letters to the post office , please . |

1) bring 2) forget 3) keep 4) take
| 12 | He can't buy a new car. It's too ....... |

1) cheap 2) difficult 3) different 4) expensive

i

|13 | How many ....................do you drink every day 7 |

1) milk 2) cup of tea 3) water 4) cups of tea

14 | Jane: "What ................ in the evenings?" Mary: "Usually I watch TV or

read a book.”
1} you doing 2) doyoudo 3) are you doing 4) you do

| 15 | My parents play tennis ...ccovveviiniveenes \

1} beautiful 2) good 3) well 4) bad
|16 | My sister has a .................. work to do today .
1} few 2) little 3) much_ 4) lot

| 17 | 1 usually play badminton ....... Monday evenings." [
1) at 2)in 3on 4) with

18 | My uncle usually drives the car very slowly and carefully . But yesterday he
was in 2 hurry and he was driving fast . He had an accident because he wanted

to be on time . So , my uncle is......
1) never careless but yesterday he wasn’t . 2) always in a hurry and wants to be on time
3) usually carefui but yesterday he wasn’t 4) never fast and careless in his driving

| 19 | At seven o’clock this morning ,my father .......ccociv00nees..i the garden . l
1)is working 2yworked 3yworks 4ywas working

| 20 | Which has different vowel sound? [

Dfood 2)Yfoot 3)pull #)should
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